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Exercise 1 (5 points)

In(n
The sequence { (2 )} is
n>2

n
Decreasing
Increasing
Neither increasing nor
decreasing
Divergent
Convergent and its limitis 1

Exercise 2 (5points)

+00

- X
The improper integral jo Xe dX is:

Convergent and its value is 1

Convergent and its value is -1

Convergent and its value is 0

Convergent and its value is 2

Divergent
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Exercise 1 (5points)

+00
The improper integral j
e

dx

— s
x(In x)*

Convergent and its value is 1

Convergent and its value is -1

Convergent and its value is 0

Convergent and its value is 2

Divergent

Exercise 2 (5points).

e
The sequence
q n 2

Increasing

Decreasing

Neither increasing nor
decreasing

Convergent

Has an upper bound

Section:






